——
N = 0] &F AF S & AN A
20158 = 20 A LBt H Jl=XI& Dt
M Jl=X&
HE: ASBHES 98 JeNA(SYHS LM /5Y - 58)
Sl S42 RSHIA MM CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Jl= X &t 14,250,511 11,679,872 2,570,639
= 6,125,282
J| 145,457
= 1,979,312
Al 6,000,460
ASZUHE st JIz=Xd(sEHllYdxd/sH - ==) 14,114,499 11,548,758 2,565,741
= 6,125,282
J| 145,457
= 1,979,312
Al 5,864,448
SN2 SEMA WA 970,599 548,946 421,653
= 133,262
== 155,662
Al 681,675
jeg== | 2,890 2,890 0
= 2,890
201 et 1,110 1,110 0
= 1,110
01 AP 2t 2| H| 1,110 1,110 0
o¥= 2 1,110,000 1,110
= 1,110
202 04d| 1,780 1,780 0
= 1,780
01 2Ll 1,780 1,780 0
o=z 1,780,000& 1,780
= 1,780
SHE SSAE XS 40,000 46,000 A 6,000
402 SI2vXHE0| ™ 40,000 46,000 A 6,000
01 A2t SAIE E =X 40,000 46,000 A 6,000
O=sJlg N2MED B2 40,000, 000& 40,000
Feel B 2&3 X2 40,000 40,000 0
201 gBt2A | 30,000 30,000 0
03 A2 G H| 30,000 30,000 0
OFeeld Y ENE Bteg XIS 30,000,000 30,000
301 et A= 10,000 10,000 0
09 SHAIAHI B A2 10,000 10,000 0
OFeeld Y S4&2 2ets X 10,000,000 10,000
sSME AT SFSAIE XH 233,100 63,600 169,500
=} 116,550
Al 116,550
402 SI2FXHE0| & 233,100 63,600 169,500
= 116,550
Al 116,550




2AM: JI=X A
HM: ASSUHE At J=sXd(sHollYd /s - s5)
He: S22 FSHA A (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 CI2ZtAI2AEE X 233,100 63,600 169,500
O F8A4d XN& 233,100,000 233,100
T 116,550
Al 116,550
SNE2 RS 66,466 69,056 A 2,590
201 LEt2 Y| 42,466 45,466 A 3,000
01 AR 22| I 26,000 29,000 A 3,000
OsdEaRSNEH 15,000,000& 15,000
oYxs 9,000,000& 9,000
==l 2,000,000& 2,000
02 3524l 16,466 16,466 0
OZ2Z22Z2Y A 3,000,000& 3,000
O A& &Hl S XY 6,000,000& 6,000
O Xt &k Bt 7,466,000 7,466
202 04| 10,000 9,590 410
01 2LHOHI 10,000 9,590 410
O2A=&H0 Y| 10,000,000& 10,000
203 € R =&Y| 3,000 3,000 0
03 A=A SR =AH| 3,000 3,000 0
OsgII=Xd RN 2,000,000& 2,000
O=sdE RSHANE 2= 1,000,000& 1,000
206 M = Hl 2,000 2,000 0
01 M= bl 2,000 2,000 0
O2tLH & HeH SHAFEIE AlA THE I
2,000,000& 2,000
301 dEtE A= 4,000 4,000 0
09 HAIAH EA =S 4,000 4,000 0
OR+=sdE HAHAEH FE0WHsIE AU 24
4,000,000& 4,000
307 QI2t0| M 5,000 5,000 0
02 DI2HZAAIEE X 5,000 5,000 0
OR+=s&E Ao MY 5,000,000& 5,000
SHE AE6H XA 327,400 327,400 0
206 M = Hl 10,000 5,000 5,000
01 M= bl 10,000 5,000 5,000
OFREZ3HIF0 LS E84 2AH XA
10,000,000& 10,000
301 dEtE A= 2,400 2,400 0
09 HAIAH EA = 2,400 2,400 0




M =X
M ASTUE < JI=Nd(sgllLb/sdY - &)
el s&E RSHA KA (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZ33HI=0l= Y 2 243 =
2,400,000 2,400
402 RIZEX20| A 315,000 320,000 A5,000
01 It 2 AL B X 315,000 320,000 A5,000
Osts Sg&4E '€, 88 N
250,000, 000& 250,000
O=sS¢= HE0AHE N& 40,000,000 40,000
OAMEE LS ZHIfLH XA 20,000,000& 20,000
ONF0F ZHIMA AL 5,000,000 5,000
SN2 SSEOEHURNE (BSHEH) 260,743 0 260,743
= 130,372
< 39,112
Al 91,259
402 RI2EXt20l ™ 260,743 0 260,743
= 130,372
< 39,112
Al 91,259
01 It =2 AL B X 260,743 0 260,743
OS=sHdEd XNJAAY 260,743,000 260,743
= 130,372
< 39,112
Al 91,259
sttt =2 & ZEHEE 664,850 489,617 175,233
= 46,450
< 168,250
Al 450,150
SMHELETAMNSH-HSAHL 7,200 8,880 A 1,680
= 7,200
202 04l 1,280 2,960 A 1,680
= 1,280
01 = LH 4 Hi 1,280 2,960 A 1,680
O=sd28 ASTA 24 1,280,000& 1,280
= 1,280
301 et d = 5,920 5,920 0
= 5,920
NIIEEd= 5,920 5,920 0
Osd28 ASTA 24 5,920,000 5,920
= 5,920
SHIIHLE 46,250 15,000 31,250
= 27,750
< 9,250
Al 9,250
402 RIZ2FXt20l ™ 46,250 15,000 31,250
= 27,750
< 9,250

w




M BN
M ASTUE < JI=Nd(sgllLb/sdY - &)
el saE 2E Y FYFLS (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 9,250
01 It =2 At B X 46,250 15,000 31,250
O=sgzgZLE N3 46,250,000 46,250
= 27,750
< 9,250
Al 9,250
N DIE - L 10,000 10,000 0
2 5,000
Al 5,000
101 @124l 10,000 10,000 0
= 5,000
Al 5,000
04 JIZHHZ2XNHESE =+ 10,000 10,000 0
OXNZEs=sglls ZSEE oBat S
10,000, 000 10,000
= 5,000
Al 5,000
sS4 222X USX 150,000 26,537 123,463
= 150,000
307 21201 A 150,000 26,537 123,463
< 150,000
02 It S AHE L 150,000 26,537 123,463
OsttE ===2 =3 XA 150,000, 000& 150,000
< 150,000
sAIII =Y Es-AESME 3,000 3,000 0
= 1,500
Al 1,500
201 Zet24l 1,000 1,000 0
= 500
Al 500
01 At 2t 2l 1,000 1,000 0
O=gdd J=8d A4Z3 1,000,000 1,000
= 500
Al 500
202 (44l 1,000 1,000 0
= 500
Al 500
01 S LHOIYI 1,000 1,000 0
O=gdY J=8% 4E&3 1,000,000& 1,000
= 500
Al 500
301 et d s 1,000 1,000 0
= 500
Al 500
09 SALAHIEA S 1,000 1,000 0
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M Jl=X&
HM: ASEZUE At JI=X (sSHLdFM/ s - 5=)
Sl S42 +3 2 BT CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
02+sS02 4L2 228 AU
5,000,000 5,000
OLdArs G nsE;A AHIEA
1,000,000& 1,000
OYHd=gas 3 NEA AY B4
1,000,000 1,000
O=2& 1 JIAS SHAIAHEAZ 2,000,000& 2,000
11 JIEtE A2 10,000 10,000 0
o= JAS HE=x &85 BA=
10,000,000& 10,000
307 2I2t0| & 48,000 48,000 0
02 IZHB AAIE E X 48,000 48,000 0
OsSHe 2225 RUEB 2Y 3,000,009 3,000
OMEE(2TB)HY S2H X
35,000,000& 35,000
O=SENE EEES SESOITOIE AL &lidl X
2 10,000,000& 10,000
402 SI2FXHE0| M 45,000 45,000 0
01 QIZEXIEAIE 2 X 45,000 45,000 0
OsNE dAAHNE & X
10,000,000& 10,000
ONXAHN=IH EHOIXN SXNELH XA
10,000,000& 10,000
OfId=sge EHXIAAE 20,000,000 20,000
O=JI=EHOIX =X 5,000,000& 5,000
XAD|eH HH s 24,000 16,000 8,000
= 9,000
Al 15,000
402 SI2vXHE0| ™ 24,000 16,000 8,000
= 9,000
Al 15,000
01 QIZEXIE2AIE 2 X 24,000 16,000 8,000
OXADIE sy DU SHAY
24 ,000,000& 24,000
== 9,000
Al 15,000
AMOIH=sLYQOl e-HIAILIA ASEE X 10,000 0 10,000
= 5,000
Al 5,000
201 et 9| 1,500 0 1,500
= 750
Al 750
01 AP 2t 2| bl 1,500 0 1,500
OAOIH=LYRl e-HIXILIA AEEHSE XA
1,500,000& 1,500




M =X
M ASTUE < JI=Nd(sgllLb/sdY - &)
Sl S42 +3 2 BT CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 750
Al 750
301 et a = 8,500 0 8,500
= 4,250
Al 4,250
09 HALAHIE& S 2,000 0 2,000
OAMOIH S0 e-HIXILIA ASHE X
2,000,000 2,000
2 1,000
Al 1,000
MIIEEE=3 6,500 0 6,500
OAMOIHESZ QR e-HIXILIA ASEE XA
6,500,000 6,500
= 3,250
Al 3,250
Al 2O E A A 8,163,123 6,840,569 1,322,554
= 4,863,750
J| 45,457
< 777,580
Al 2,476,336
NEEHN J=23 284,700 30,250 254,450
< 101,610
Al 183,090
202 oddl 3,700 3,250 450
= 1,110
Al 2,590
04 = W &t Bl 3,700 3,250 450
OASZHZ =3 Y Jlsw= 3,700,000 3,700
< 1,110
Al 2,590
402 RI2HX20l 281,000 27,000 254,000
< 100,500
Al 180,500
01 A TtEAEER 281,000 27,000 254,000
OH3UoH=ME I/ Al® 6,000,000 6,000
< 3,000
Al 3,000
O+ s&2 22l (GAP) Al 24,000,000& 24,000
< 12,000
Al 12,000
OH Jictelg ZHIIs AlY 3,000,000 3,000
= 1,500
Al 1,500
OE8MN IEsA H Hals LMoz A
8,000,000& 8,000
< 4,000
Al 4,000
OsoAan SA) F XIF 240,000,000 240,000

_7_




Jl= X & ot
ASZUE R =N (sgLb/ s - &)
AZEORE M
= - - SHE|
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 e
< 80,000
Al 160,000
D& & MMl =4 54,000 54,000
< 20,250
Al 33,750
402 RI2EX=20l A 54,000 54,000
= 20,250
Al 33,750
01 It 2 AL E X 54,000 54,000
OLNSTE & MM =4 54,000,000& 54,000
< 20,250
Al 33,750
H gEais 2 135,457 , 457
< 41,923
Al 93,534
206 TH 2 HI 17,152 152
= 6,432
Al 10,720
01 MHZ 4l 17,152 , 152
O=s2otd AISEH A& 17,152,000& 17,152
< 6,432
Al 10,720
402 BI2FX=201 M 118,305 ,305
< 35,491
Al 82,814
01 St 2 AL E X 118,305 ,305
OH Holls s MYl X 18,305, 000& 18,305
< 5,491
Al 12,814
Oddis 222N XA 100,000, 000& 100,000
S 30,000
Al 70,000
MASEHDENE 4,153,000 ,653
= 4,153,000
301 L2 A3 4,153,000 ,653
= 4,153,000
1MIIEBESS 4,153,000 ,653
ONASBENEAZE B&43 4,153,000,000& 4,153,000
= 4,153,000
MIIsE2sSMgE-RE)= 300,000 ,000
= 150,000
Al 150,000
402 212t X 20| & 300,000 ,000
- 150,000
Al 150,000
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M =X
M ASTUE < JI=Nd(sgllLb/sdY - &)
ol AZOI M (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OrM== IoHOE A 28,710 28,710 0
< 8,613
Al 20,097
301 et d s 28,710 28,710 0
< 8,613
Al 20,097
MIIEEd= 28,710 28,710 0
OOtM=SZ= Hai24 X 28,710,000 28,710
< 8,613
Al 20,097
NZE & otFMA 1,076,081 1,160,941 A 84,860
101 14l 3,081 2,941 140
4 JI2ZtHZ22HEE = 3,081 2,941 140
OUWZEZ &22/EX 3,081,000 3,081
201 £B-2dH| 2,000 2,000 0
01 At 22l 2,000 2,000 0
o M= 3= ALK 2,000,000 2,000
206 M= Hl 3,000 3,000 0
01 MHZ 4l 3,000 3,000 0
OdollEs 2dEE =& 1,000,000 1,000
OsEgdEs) Mz 22 2,000,000& 2,000
301 et d = 7,000 7,000 0
09 HALAHIEA S 7,000 7,000 0
OLNSE YA "I ZFAX AU E4
1,000, 000& 1,000
OXAES MU H&s AT MHEH
1,000, 000& 1,000
oY M= U3zl AKX 5,000,000 5,000
307 21201 A 6,000 6,000 0
05 RIZt2IE = 6,000 6,000 0
OXHoHCHEI OGilHIZE AX 6,000,000 6,000
402 2I2H X201 M 1,055,000 1,140,000 85,000
01 It AP E X 1,055,000 1,140,000 A 85,000
ONZE My &=5E Hiz X
600,000,000 600,000
Ol 8k AI24E 2= 250,000, 000& 250,000
o% XM HAXI| X 45,000,000 45,000
ogZ I&J 7 XA 10,000, 000& 10,000
OSY HalsLH X 100,000,000 100,000
oOR=&dIt) 23 X& 50,000,000 50,000
SIS FAY 196,500 244,000 AA4T7,500




M =X
M ASTUE < JI=Nd(sgllLb/sdY - &)
CHel AZFOLE MM CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
207 Ao H| 1,000 1,000 0
03 A& & 24l 1,000 1,000 0
O=s&=2 E2 M& 1,000,000 1,000
402 RI2tXt20l ™ 195,500 243,000 A 47,500
01 A TtEAEEX 195,500 243,000 A 47,500
O=Z MHiAIE 6,000,000 6,000
OsFaZel MATHH AlY 12,000,000 12,000
OSclY MATHEY AlE™ 10,000, 000& 10,000
OJlsd & THHHAIEY 5,000,000 5,000
OzINESE & MM AlY 20,000,000& 20,000
O8N A=D XN3AAY 12,500, 000& 12,500
ORI B Hols =sLH A
130,000, 000& 130,000
dHE SHXE 115,200 50,400 64,800
< 43,200
Al 72,000
402 DIZFRHE 0| A 115,200 50,400 64,800
= 43,200
Al 72,000
01 It 2 AL B X 115,200 50,400 64,800
ORI LY AT & ALY 115,200,000 115,200
< 43,200
Al 72,000
EESsUE ASEHE HEN 24,724 24,724 0
< 12,362
Al 12,362
301 L2 A F 24,724 24,724 0
< 12,362
Al 12,362
11IIEtEA S 24,724 24,724 0
OES=stE AS2d AEN 243
24,724,000 24,724
= 12,362
Al 12,362
B THHH =0t 3L HE RS XA 1,090,244 1,090,244 0
< 545,122
Al 545,122
301 L2 AF 1,090,244 1,090,244 0
= 545,122
Al 545,122
11IIEtEA S 1,090,244 1,090,244 0
OW THHH st BEHEN=S X
1,090, 244,000& 1,090,244
< 545,122
Al 545,122




2N
X ZH -
L= B

el

S

7z b

A o

= K& 0t

SEUE st Vsl (sdalYsd/=g - &)
2HOLE A AL

SN HH-S(BN) - MBAY - B il HlnE2

d=sTHSHAIE SHH 2,700 6,948 N4, 248
= 2,700

201 YEr2 2t 2,700 6,948 N 4,248
2 2,700

01 At 2t 2l 2,700 6,948 N4, 248
OLsHAEM SHHI 2,700,000 2,700
= 2,700

2= o X 2 I ALY 400,000 185,681 214,319
=2 400,000

301 L2 AF 400,000 185,681 214,319
= 400,000

11IIEtEA S 400,000 185,681 214,319
OLsHAEZHAY 400,000,000 400,000
= 400,000

SH= ollE HEZHAE 158,100 36,600 121,500
= 79,050
Al 79,050

101 @124l 16,000 0 16,000
= 8,000
Al 8,000

M4 II2HZ22NSES 16,000 0 16,000
OYdis HEE - At 29 16,000, 000& 16,000
= 8,000
Al 8,000

206 2 I 102, 100 36,600 65,500
2 51,050
Al 51,050

01 =8l 102,100 36,600 65,500
Og%oiE & Hb X& 100,000, 000 100,000
= 50,000
Al 50,000
ogsis AL 2HE(AM) 2,100,000 2,100
= 1,050
Al 1,050

405 RHoHE S HI 40,000 0 40,000
= 20,000
Al 20,000

01 AL EZFH S 40,000 0 40,000
ORAUAXNSESSTESUYALH 40,000,000 40,000
= 20,000
Al 20,000

IoHEMEE ALY S FHI 10,393 0 10,393
| 10,393




M Jl=X&
HM: ASEZUE At JI=X (sSHLdFM/ s - 5=)
CHel AZFOLE MM CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
201 LBt | 6,393 0 6,393
J| 6,393
01 AP 22| d| 6,393 0 6,393
Onl28a=2 HAHH| 6,393,000& 6,393
Dl 6,393
202 044l 4,000 0 4,000
J| 4,000
01 2L I 4,000 0 4,000
Ol = #HAH| 4,000,000& 4,000
J| 4,000
NSNS ES )| s Al S 50,000 0 50,000
= 50,000
307 2Iz2to| A 50,000 0 50,000
= 50,000
02 DIZHAAAIE E X 50,000 0 50,000
OMNNEHSAME =5 722G MAAY
50,000, 000& 50,000
= 50,000
Ilsd & THHHEX =4 12,000 24,000 A 12,000
= 4,500
Al 7,500
402 SI2vXH=20| ™ 12,000 24,000 A 12,000
= 4,500
Al 7,500
01 QIZEXIE2AIE 2 X 12,000 24,000 A 12,000
OJdlsd 2 THHHHY X =4 12,000,000 12,000
= 4,500
Al 7,500
FTA =2 &35} 4,067,838 3,201,267 866,571
=2 1,064,920
J| 100,000
& 845,860
Al 2,057,058
ADlsB2-s20ls 40,000 298,860 A 258,860
= 20,000
Al 20,000
402 IV X201 & 40,000 291,860 A 251,860
= 20,000
Al 20,000
01 QIZEXIEAIE 2 X 40,000 291,860 A 251,860
ORENME 22 &= Hols2Hd AlY
15,000,000 15,000
= 7,500
Al 7,500




M ASZEUE 98 JeNA(SUHS M/ - 5&)
Sl FTA 2= 225 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
0Ny SHZHE JMSS SRIAE
25,000, 000& 25,000
i 12,500
Al 12,500
TESHUSHATE 50,000 80,000 A 30,000
= 50,000
402 RI2EX=20l A 50,000 80,000 A 30,000
= 50,000
01 It AL E X 50,000 80,000 A 30,000
Ot sdtE =& 43 Al 50,000,000 50,000
= 50,000
ANERN JI=E3 192,000 80,800 111,200
< 74,250
Al 117,750
402 RI2HXt20l ™ 192,000 80,800 111,200
< 74,250
Al 117,750
01 ATt EAEEX 192,000 80,800 111,200
ONEZE NHd=bE M JIsE3 MY
8,000,000& 8,000
< 4,000
Al 4,000
OHNAZE DIMEH AXNIHUHHAEY
6,000,000& 6,000
= 2,250
Al 3,750
OAMARN XSHH 23 AlY
16,000,000 16,000
= 6,000
Al 10,000
O MAIl& AMYHEX 4
16,000,000 16,000
< 6,000
Al 10,000
OAMERJUZEE SEEL AEY 10,000,000& 10,000
< 5,000
Al 5,000
OMAEIDSE GAP MAHT AlEEZH
16,000, 000& 16,000
< 6,000
Al 10,000
ORUXHSRLH MASAH(AMETHL)
40,000,000 40,000
< 15,000
Al 25,000
O ESROILH MSASAIY (=)
80,000,000& 80,000
< 30,000




= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t

| Al 50,000

&= MHHEE K 75,000 75,000 0
< 30,000
Al 45,000

307 glz2tol & 75,000 75,000 0
< 30,000
Al 45,000

02 It M AHEE 75,000 75,000 0
O=&2 Moi2gzs XN& 75,000,000 75,000
< 30,000
Al 45,000

FTA X2 X8 At 2,000 0 2,000
= 2,000

201 et 2,000 0 2,000
= 2,000

01 At 22l 2,000 0 2,000
OFTAJIZ =+ REXE 2,000,000& 2,000
= 2,000

AME20 HUEHXNEZ AIEX&A 76,422 65,000 11,422
< 34,908
Al 41,514

402 QI2H X201 M 76,422 65,000 11,422
< 34,908
Al 41,514

01 It AL E X 76,422 65,000 11,422
O0ts THATHEE sJ1H XI&AFE 8,000,000 8,000
< 4,000
Al 4,000
O=sZ%E SMBEY XA 2,000,000 2,000
< 1,000
Al 1,000
o&II2E0l X A& 26,422,000& 26,422
< 9,908
Al 16,514
OL=otRA AN 10,000, 000& 10,000
< 5,000
Al 5,000
OMAMEAIL S XA 30,000,000& 30,000
< 15,000
Al 15,000

SO HEHS ALY 202,700 43,500 159,200
< 101,350
Al 101,350

402 BIZHXHE0| A 202,700 43,500 159,200
< 101,350
Al 101,350
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119,000
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OANE&0 iHXI0E s&3 298,000,000
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298,000
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2N
X ZH -
L= B

el

Fan;
e Qs D=l (sgllgrb/se - 5&)
s g43

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 RI2EX20l A 1,200 1,500 A 300
< 480
Al 720
01 It 2 AL E X 1,200 1,500 A 300
O+ =38 ZIIF X& 1,200,000 1,200
< 480
Al 720
NEELs Jl=HeEAg-II=X& 70,000 0 70,000
< 30,000
Al 40,000
402 RIZ2EXt20l ™ 70,000 0 70,000
< 30,000
Al 40,000
01 ATt EAEEX 70,000 0 70,000
OXTsetE IISAS 2 NSHE
70,000,000& 70,000
< 30,000
Al 40,000
FTAS S 2383 At Y 492,900 356,400 136,500
201 YEt2 | 2,000 1,500 500
01 At 22l I 2,000 1,500 500
OJMA= e, E2MX M 1,000,000 1,000
O=g Mol H&2R Sl 1,000,000 1,000
206 TH 2 HI 7,000 6,000 1,000
01 M= 4l 7,000 6,000 1,000
OE(E EstALEE LMAE 6,000,000 6,000
CRN==Z HallsuZE Mz 7L 1,000,000 1,000
207 R4 2l 11,000 8,000 3,000
03 Al & 12 Hl 11,000 8,000 3,000
ORESOIME S sSXHMHEE MUIAIE
8,000,000 8,000
OZCeh DAIHE S AIE 3,000,000 3,000
301 et a3z 2,900 5,900 A 3,000
09 &AL HIZB &S 2,900 4,900 A 2,000
Od0 20 8= HWOts &AL AMUIE4
1,400,000& 1,400
Ot MI|&=8T A48 AT AHIEH
1,500, 000& 1,500
307 21201 A 10,000 0 10,000
02 YAFHAANGFEX 10,000 0 10,000
OFChef ASE 2R 2AHMX 10,000, 000& 10,000
402 QIZEXtE0| A 460,000 335,000 125,000




M =X
M ASTUE < JI=Nd(sgllLb/sdY - &)
Sl FTA 22 223 CERED
5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 It =2 AL EE 460,000 335,000 125,000
OJlsd wasX K& 30,000,000& 30,000
Otz =58 22 S MLAE
25,000,000& 25,000
O&Ciel EHIEI |4 35,000,000& 35,000
0SS FNE0 FYNS SYAY
80,000, 000& 80,000
O1NxF AXI| XN3ALS 30,000,000& 30,000
o= t3e o =4 10,000,000& 10,000
OMHO XA AA Z0ts EE3 AMZ
40,000,000 40,000
otArs &= 84 20,000,000 20,000
OHILSS S AdEI =AY
20,000,000 20,000
OZJl DEHE X3AAY 50,000,000 50,000
otz SZHL AY 20,000, 000& 20,000
OAHEStRA SFAIE WHXI3AS
100,000, 000& 100,000
ANeaaas &2 J|gtxd 80,000 0 80,000
< 80,000
402 RIZEX20l A 80,000 0 80,000
= 80,000
01 It 2 AL B X 80,000 0 80,000
OUAEINT AUAE HUALEAL
80,000,000 80,000
< 80,000
AMERWH SEMEALY 1,716,800 945,000 771,800
= 686,920
< 309,564
Al 720,316
402 RI2EX=201 A 1,716,800 945,000 771,800
2 686,920
< 309,564
Al 720,316
01 It AL E X 1,716,800 945,000 771,800
OANE20 SEMNLA (LER0)
857,000,000& 857,000
=2 344,000
< 154,000
Al 359,000
OANE20 SEMNLAAMD (AUWESXI)
793,000, 000& 793,000
= 317,000
< 143,000
Al 333,000
O0F HIJIETHEHAIE K& 19,800, 000& 19,800
= 7,920
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LAEEUHE S Il (sglEd/s - &)
FTA 22 223 CERED
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
Al 5,000
201 L2l 2,000 2,000
= 1,000
Al 1,000
01 At 22l 2,000 2,000
OXNg=Eds 2949 2,000,000 2,000
= 1,000
Al 1,000
301 L2 A=z 5,000 5,000
2 2,500
Al 2,500
09 SAEHIE &S 5,000 5,000
OWZXAS, HEALE, DEFAI AHE
&t 5,000,000& 5,000
= 2,500
Al 2,500
402 RI2HXt20l ™ 283,000 123,000
2 141,500
Al 141,500
01 22t t= AP E XL 283,000 123,000
oOXd=sgEL s 283,000, 000& 283,000
= 141,500
Al 141,500
sSEXNZIELEH 50,000 50,000
= 25,000
Al 25,000
206 M= Hl 4,000 4,000
2 2,000
Al 2,000
01 =8l 4,000 4,000
Os=X&s Mz 7Y 4,000,000& 4,000
= 2,000
Al 2,000
405 XHAHE S H) 46,000 46,000
2 23,000
Al 23,000
01 AL EFH S 46,000 46,000
sEXNEEH 2 46,000,000 46,000
= 23,000
Al 23,000
ANEJN d2ALEE 24 4,000 4,000
< 1,500
Al 2,500
202 Odl 4,000 4,000
< 1,500
Al 2,500
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= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
04 = H &t Bl 4,000 0 4,000
OANER0N d2ALHEE 24 4,000,000 4,000
< 1,500
Al 2,500
Dt== 88 AR 60,000 0 60,000
= 24,000
Al 36,000
402 RI2EXt20l 60,000 0 60,000
< 24,000
Al 36,000
01 22t t= AP E XL 60,000 0 60,000
OMAS MAMAALY S 15,000, 000& 15,000
< 6,000
Al 9,000
Otllel MarAld SO 3 45,000,000 45,000
< 18,000
Al 27,000
sJIIHO =23 248,089 468,359 A 220,270
= 16,900
< 31,960
Al 199,229
S H ALY 57,000 57,000 0
201 Let2d] 27,000 27,000 0
01 At 22l 2,000 2,000 0
ogB2d| 2,000,000 2,000
02 =224l 25,000 25,000 0
03322 % AH 13,000, 000& 13,000
OA4, s & |4 5,000,000& 5,000
O Xt& & Byl 7,000,000 7,000
401 Al B2 28I 20,000 20,000 0
01 A& Bl 20,000 20,000 0
O=JIH & & ALY AI&EE
20,000, 000& 20,000
405 RHoHF S HI 10,000 10,000 0
01 XL 2 ZFH S| 10,000 10,000 0
O=sJIAHLUEL 2L 10,000,000 10,000
S5 SAE SITAH SSMY 57,500 57,500 0
< 23,000
Al 34,500
402 RIZ2ER201 ™ 57,500 57,500 0
< 23,000
Al 34,500
01 A=A EX 57,500 57,500 0




AN JlsXE B

HE: ASBHES 98 JeNA(SYHS LM /5Y - 58)

el S0l 850 (sl &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OXETH =48 sIAH B2 57,500, 000& 57,500
= 23,000
Al 34,500
sIHLSEHAS-IISX 2 (32Hl) 33,800 16,900 16,900
= 16,900
Al 16,900
301 dEtE A= 4,400 2,200 2,200
= 2,200
Al 2,200
09 HAIAHI EA =S 4,400 2,200 2,200
O=sglIHLNE EEAIY 4,400,000& 4,400
= 2,200
Al 2,200
405 Ko SHI 29,400 14,700 14,700
= 14,700
Al 14,700
01 JtatY = S F SHI 29,400 14,700 14,700
O=JIHDS FHX 29,400,000% 29,400
2 14,700
Al 14,700
S HE=3 %2l K& 78,989 69, 159 9,830
101 @121l 22,989 21,159 1,830
04 JI2ZtH 22 XNEE % 22,989 21,159 1,830
O sJIH =3l (1Y) 22,989
o 0lg 2l 71,420 x210 14,999
oF X 71,4203 x44 L 3,143
o Al2te =& 13,580& *40A| 2t*x3& 1,630
ocAHIXI=H 71,4203 *12L 858
o=20125 428 18, 142,000& *13% 2,359
201 Bt A H| 3,000 3,000 0
02 3524t 3,000 3,000 0
O XA EH| (S XIH]) 3,000, 000& 3,000
206 M = Hl 30,000 30,000 0
01 X2 Hl 30,000 30,000 0
OsJIH=sgx2lnsg 8 30,000,000 30,000
402 SI2FXHE0| M 23,000 15,000 8,000
01 A SAMEE =X 23,000 15,000 8,000
ousxEAIZ) XA 15,000,000 15,000
OX&H H=2ESH FHXNI(AERD])
8,000,000& 8,000
SIH nEESHAL-II=XA (=) 20,800 20,800 0
== 8,960
Al 11,840
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D IIsXE Y
P ASEUE S JIsXA(

CsJIAOEEN

SYUHLLL/5Y - 5E)

SH-HH . B(SH) - HBAMY - B2 il 2
202 0db] 7,200 7,200 0
= 2,160
Al 5,040
04 = X3 Yl 7,200 7,200 0
Od&=sYIHSEHAHXOLY XIS
7,200,000& 7,200
= 2,160
Al 5,040
402 2I2HX =0 & 13,600 13,600 0
& 6,800
Al 6,800
01 QIZtEXAI2AMEE X 13,600 13,600 0
L= HEIIAHKXNEH 13,600,000& 13,600
T 6,800
Al 6,800
HAESHAAY (Jl=X2 ) (JIEH/DIE) 136,012 131,114 4,898
A2 75,732 70,914 4,818
ol 2HH| 75,732 70,914 4,818
101 @121l 75,732 70,914 4,818
01 2% 75,732 70,914 4,818
oOxU2RE 75,732
o X & & 11,4193 x 1 *40A| 2+ x12& 5,482
o5h3 11,591& 15 »40A| 2+ x12& 5,564
o632 9,886& *2H x40A| 2t x12& 9,491
o7g 8,930& *3YH *40A| 2t x 128 12,860
o Xl & At 40,272
-212 20| & 9,322 *9Y *40A| 2+ x12& 40,272
oXMIMH 73,665,000& *2.8% 2,063
|22 60,280 60,200 80
Jl&l 60,280 60,200 80
201 LEr2 Y| 10,000 10,000 0
01 AR 22| bl 7,000 7,000 0
Ot =2H| 5,000,000& 5,000
OZ2&H| 2,000,000& 2,000
02 33249l 3,000 3,000 0
O™ ZHl 3,000,000& 3,000
202 (4] 46,080 43,200 2,880
01 =LH 4 B 46,080 43,200 2,880
oOUE& NI 240,000 »16H x12& 46,080
203 Y2 E X Y| 4,200 3,000 1,200
04 ENSI IR =Y 4,200 3,000 1,200
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AN JlsXE B
HAM: HH2IHHOI=X &) (IIEH/IIE
el JI=23Hl

_ _ _ s
AW E(EA) - NP - BES of &4 o4 e
OFNMEY 24l 350,000& 12 4,200
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